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$���
%& ��
���� ��� x → 0 � � � � � � � � � �  '

 ��� ������ ��
���� ���
 f(x)
g(x) � � � � � � � � � � � �  (

 � � ������ ��
���� ���
 f (x)
1

g(x) � � � � � � � � � � ��

�� ��
��� ��
��"� �����	
���
�� �������� ������
 � � � � � � � � �(

���� )%�����
�� �������� � � � � � � � � � � � � � � � � *"

�� ���	�� ��
��"� �����	
���
�� �������� ������
 � � � � � � � � * 

���� )%�����
�� �������� � � � � � � � � � � � � � � � � **

�

�� ������	
�� ���
�
��

���� �������	� 
���
	�

���	� ��
���� g (x) 
� �$�
+
�	�� � 
��� � 
���	����

�������	�� �����	
��	� 	���� x0� ����
,


- ���� lim
x→x0

f(x)
g(x) = 1, 	� ������	. �	� ��
���� f (x)

/����
��
	

 ��
���� g (x) ��� x → x0. � ��0�	

f (x) ∼ g (x) ��� x → x0.

$- ���� lim
x→x0

f(x)
g(x) = 0, 	� ������	. �	� ��
���� f (x) ��	� �1�
���

�	 ��
���� g (x) ��� x → x0. � ��0�	

f (x) = o(g (x)) ��� x → x0. 2"-

��������� �	 3������ ���
 2"- ������	 ��	
	� 	�����

����
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��. 	
� �
� ��
�
� �
�	� �$��

�
�	 ��
��

��
����. $����
��
� �
�%& �� ��
�
�
�� � g (x) ���

x → x0� 4
��
�	�� 2"- ��5
� ��
��
	� �
� �$��

��
��

���

���5
��	� ��
���� f (x) � ��
��� o(g (x))�
6
���� f (x) = o(1) ��

�
�	. �	� ��
���� f (x) �����	��

$����
��
� �
��� ��� x → x0. 	� ��	� lim
x→x0

f (x) = 0�

7��� f (x) = o(g (x)). ��� g (x) 8 $����
��
� �
�
�

��
���� ��� x → x0. 	� ��
���� f (x) 

�%�
�	 $����
��
�

�
��� $���� �%������ ������
 �� ��
�
�
�� � ��
����� g (x)
��� x → x0�

9�� 	��� �	�$% ��
���� f (x) $%�
 /����
��
	

 ��
����

g (x) ��� x → x0. 
��$&����� � ���	
	��
�. �	�$% ����
 ���	�

������

f (x) − g (x) = o(g (x)) ��� x → x0.

�- � �����	
���
�� ���
 f (x) = a (x − x0)
n + o((x − x0)

n) ���

x → x0. ��� a �= 0. ��
�
���� a (x − x0)
n 

�%�
�	�� ��
�
��

�
�	�� ��
���� f (x) ��� x → x0�

�



���� ������	
� ��	�
�
 �	���	��������

�
	������� ����	����� �������

����� � ���	
 ����
 ��������� ���
�� �
�� o(f) 	�	�������

�	������	�	 ��������
���� ������ o(f)� x → x0� C �= 0 �

�	��	������ �	��� 
���� ����	 �	������
o(Cf) = o(f) ;  !"

C · o(f) = o(f) ;  #"

o(f) + o(f) = o(f) ;  $"

o(o(f)) = o(f) ;  %"

o(f + o(f)) = o(f) ;  &"

o(f) · o(g) = o(fg) ;  '"

fn−1 o(f) = o(fn) ;  ("

o(fn)
f

= o
(
fn−1

)
, ���
 f (x) �= 0 ∀x ∈ U̇δ (x0) ;  )"

(o(f))α = o(fα) , α > 0.  *+"

,���
���� �	�����  '" 	�������� ��	 ��	
������
�

α (x) · β (x) ���	�	 -������� α (x) 
� ������ ����.

 o(f)

 β (x) 
� ������ ����.

 o(g) �������� -������	� ������

����.

 o(fg)�
��������� �	 ��
�������� �	����� ������� �
����

�	���	 ����� ������	� ��
������ ��	 � ����/ �����/ ������

�	�������
 ��������
���� ������� � � �����/ � �����

����.
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�� !����	�

������ �����	
 ��
	��
 � ���
������ �	����

� ����� ��
��

����� ��0������� f (n) (x0)� �	��� 
���� ����	 �����������
�

f (x) = f (x0) +
f ′ (x0)

1!
(x − x0) +

f ′′ (x0)
2!

(x − x0)
2 + . . . +

+
f (n) (x0)

n!
(x − x0)

n + o((x − x0)
n) ��
 x → x0


�
� � �	���0���	
 �	����

f (x) =
n∑

k=0

f (k) (x0)
k!

(x − x0)
k + o((x − x0)

n) ��
 x → x0.  **"

1�	�	����

Pn (x) =
n∑

k=0

f (k) (x0)
k!

(x − x0)
k

���������� ��	�	����	� ��
�	�� ����.

 f (x) � �	��� x0�

2���.
� rn (x) = f (x)−Pn (x)� ��� rn (x) = o((x − x0)
n) ��


x → x0� ���������� 	����	���� ����	� n3�	 �	����� �	�����

��
�	���

2	�����  **" ���������� �	����	
 ��
�	�� n3�	 �	�����

��� ����.

 f (x) � 	������	��
 �	��
 x0 � 	����	����

����	� � �	��� ����	�

������ �����	
 ��
	��
 � ���
������ �	����

� ����� �
��
��


4��
 ����.
� f (x) 
���� � ���	�	�	
 	������	��
 �	��


x0 ��	
��	���� �	 (n + 1)3�	 �	����� �����
�����	� �	 ���

���	
 �	��
 x 
� -�	
 	������	��
 ��
����� �	��� ξ� ��5�0��

��5�� x 
 x0  x < ξ < x0 
�
 x0 < ξ < x"� 
 ������ ��	

'



f (x) =
n∑

k=0

fk (x0)
k!

(x − x0)
k +

f (n+1) (ξ)
(n + 1) !

(x − x0)
n+1 . ����

����	
� ���� ��
������� ����	
�� ���
��� � ����������

�
���� rn (x) = f (n+1)(ξ)
(n+1)! (x − x0)

n+1 � ����� ���������

������ ������	 �
��
������
��

���

�	������ �������� ������	

�	��� �	�����	�� fn (x0)� ����� �	� !"� f (x) ��"���������
�#��
�� $�������"�� � �"��

f (x) =
n∑

k=0

ak (x − x0)
k + o((x − x0)

n) $�" x → x0, ��%�

$�"���  �&��"!"���� $�������
��"� ��%� �$����
�'���

����	
��" ak = f (k)(x0)
k! , k = 0, 1, . . . , n.

������ ������	 �	������	

(�
" x0 = 0) �� ����	
� ���
��� $�"�"���� �"�

f (x) =
n∑

k=0

f (k) (0)
k!

xk + o(xn) $�" x → 0 ��*�

" ��
������� ����	
�� +� 
������

��"����� $�������
��"� ����	
�� +� 
����� �������,

�	� !"�-

ex = 1 + x +
x2

2!
+ . . . +

xn

n!
+ o(xn) "
"

ex =
n∑

k=0

xk

k!
+ o(xn) $�" x → 0. ��.�

/

chx = 1 +
x2

2!
+

x4

4!
+ . . . +

x2n

(2n)!
+ o

(
x2n+1

)
"
"

chx =
n∑

k=0

x2k

(2k)!
+ o

(
x2n+1

)
$�" x → 0. ��0�

sh x = x +
x3

3!
+

x5

5!
+ . . . +

x2n+1

(2n + 1)!
+ o

(
x2n+2

)
"
"

sh x =
n∑

k=0

x2k+1

(2k + 1)!
+ o

(
x2n+2

)
$�" x → 0. ��1�

cos x = 1 − x2

2!
+

x4

4!
− . . . + (−1)n x2n

(2n)!
+ o

(
x2n+1

)
"
"

cos x =
n∑

k=0

(−1)k x2k

(2k)!
+ o

(
x2n+1

)
$�" x → 0. ��/�

sin x = x − x3

3!
+

x5

5!
− . . . + (−1)n x2n+1

(2n + 1)!
+ o

(
x2n+2

)
"
"

sin x =
n∑

k=0

(−1)k x2k+1

(2k + 1)!
+ o

(
x2n+2

)
$�" x → 0. ��2�

(1 + x)α = 1 + αx +
α (α − 1)

2!
x2 +

α (α − 1) (α − 2)
3!

x3 + . . .+

+
α (α − 1) . . . (α − (n − 1))

n!
xn + o(xn) "
"

(1 + x)α =
n∑

k=0

Ck
αxk + o(xn) , $�" x → 0, α /∈ N, α �= 0, ��3�

��� C0
α = 1, Ck

α = α(α−1)...(α−(k−1))
k! , k = 1, 2, . . . ; � ��������")

1
1 + x

=
n∑

k=0

(−1)k xk + o(xn) $�" x → 0; ����

2



1
1 − x

=
n∑

k=0

xk + o(xn) ��� x → 0. ����

ln (1 + x) = x − x2

2
+

x3

3
− . . . + (−1)n−1 xn

n
+ o(xn) ���

ln (1 + x) =
n∑

k=1

(−1)k−1 xk

k
+ o(xn) ��� x → 0; ����

ln (1 − x) = −
n∑

k=1

xk

k
+ o(xn) ��� x → 0. ��	�
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�������� �������
� ������ � �������� �	�
���


����� f (x) �  ��
�� ��
�!�� � ��"������� f (2n+1) (0)#
��$�� �� ������� �������
� ������ ���

f (x) =
n∑

k=0

f (2k) (0)
(2k) !

x2k + o
(
x2n+1

)
��� x → 0. ��%�

����� f (x) � 
� ��
�� ��
�!�� � ��"������� f (2n+2) (0)#
��$�� �� ������� �������
� ������ ���

f (x) =
n∑

k=0

f (2k+1) (0)
(2k + 1) !

x2k+1 + o
(
x2n+2

)
��� x → 0. ��&�

��������� �
 ������� �'����$� � ����������
��( ��%� �

��&� 
� ���
�!� ��)� �����
� ������
�$�  ��
� �
�$� ��
�#

��� ��� � �*��( ����������
��( ���$�����# ������"�� +�

����)�� �����
�� �
�$� ��
� ,������# ���
� 
���-

./

���� �����	

 ��� ����
������
��


�������� ���������

��������� �
 0������� ����� �����!�� 
��

����������
���� �������� ,������ � ������
���� �� ��

x0 �����
��� �
���$� 
� ������� �������
�- 
��
�#

 �� �������� ����� �����!�� �����
��� ������ �

����������
��� �������� ,������ � ������
���� ��
��

� ��� �� �� �� x0-

�������� � ��������� ����������
�� ��
�!��

�������� �������
� ���"���������� ����� �����
�
��

������������"�( �����!�� 
�� ��1���!��
���� ���

���
�����( �����
�(- 2���

f (x) =
n∑

k=0

akx
k + o(xn) , g (x) =

n∑
k=0

bkx
k + o(xn) , x → 0, ��

1) f (x) ± g (x) =
n∑

k=0

(ak ± bk)xk + o(xn) , x → 0;

2) f (x) g (x) =
n∑

k=0

ckx
k + o(xn) , x → 0, $�� ck =

k∑
i=0

aibk−i.

��������� �
 3�
���
�� � ��+����
�� � �����
�

����������
�� �������� �������
� ���"���������� ��

���
����
�� �������� ��
���
�� � ��+����
�� � �����
�

�
�$� ��
��# 
� � � ���� ������ ����*��+���
�� ������
��#

�������"�( �'����� ���� � �./�# �- &�-

����������
�� ����	��� ��
������ ������� �	�
���

F (x) = f (ϕ (x)) �� o(xn)# $�� ϕ (x) = o(1) ��� x → 0# ���� ���
������"�� �*��+��4

.� ������������ ��
�!�� ϕ (x) �������� �������
� �� o(xn)5
�� ������������ ��
�!�� f (y) �������� �������
� �� o(yn)5
�� +���
��� y ����������
��� �������� �������
� ��
�!��

ϕ (x)5

..



�� ��������	
 �����
� �������� ��	�� ��	�	�
 �	 ���	 n�

� ��������
� 	��
 ϕ (x) = Axm� m ∈ N� f (y) =
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F (x) = f (Axm) =
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f ′ (x) =
n∑

k=0

akx
k + o(xn) , ��#��

f (x) = f (0) +
n∑

k=0

ak

k + 1
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g(x) �

"���� f (x) = axn + o(xn) 
 g (x) = bxn + o(xn) , x → 0, b �= 0.

.�#�� lim
x→0

f (x)
g (x)

= lim
x→0

axn + o(xn)
bxn + o(xn)

=
a

b
.

�����	 ��
���� ���� (f (x))
1

g(x) �

"���� f (x) = 1 + axn + o(xn) , x → 0, a �= 0 


g (x) = bxn + o(xn) , x → 0, b �= 0.

.�#�� lim
x→0

f (x)
1

g(x) = lim
x→0

(1 + axn + o(xn))
1

(bxn+o(xn)) = e
a
b .
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(
2x + 3x2 + o

(
x3
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x + 3x2 + o

(
x3
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��� x → 0�

�
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2x + 3x2 + o

(
x3
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x + 3x2 + o

(
x3
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= x + o

(
x3
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� �������
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3x + 5x2 + x4 − o
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3x + 5x2 + x4 + o
(
x4

)
+

+ 15x2 + 25x3 + o
(
x4

) −
− 3x4 + o

(
x4

)
=

= 3x + 20x2 + 25x3 − 2x4 + o
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x4
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f (x) = ex + x2|x| �� o(xn)� /���
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��� ���
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n0
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f (x) = ex · √1 + x �� o
(
x2

)
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�
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ex ∼ 1 �
√

1 + x ∼ 1 ��� x → 0 �� ������� ��
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f (x) =
(

1 + x +
x2

2
+ o

(
x2

))(
1 +

x

2
− x2

8
+ o

(
x2
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f (x) =
(

1 +
x

2
− x2

8
+ o

(
x2

))
+ x

(
1 +

x

2
+ o(x)

)
+

+
x2

2
(1 + o(1)) = 1 +

3x

2
+

7x2

8
+ o

(
x2

)
, x → 0.�
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f (x) = sinx · ln (1 + x) �� o
(
x5

)
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� ��� ��� sinx ∼ x� ln (1 + x) ∼ x ��	 x → 0� �� sinx 	

ln (1 + x) �����������
 ���
���� ��������� �� o
(
x4

)
�

f (x) =
(

x − x3

3!
+ o

(
x4

)) (
x − x2

2
+

x3

3
− x4

4
+ o

(
x4

))
=

= x

(
x − x2

2
+

x3

3
− x4

4
+ o

(
x4

)) − x3

3!

(
x − x2

2
+ o

(
x2

))
=

= x2 − x3

2
+

x4

6
− x5

6
+ o

(
x5
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, x → 0.
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(
x3
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(
2x2
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(
3x3
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+ 2
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x · 2x2 + x · 3x3 + 2x2 · 3x3

)
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(
x3

) (
x + 2x2 + 3x3 + o

(
x3
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)2
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(
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f (x) = 1 + x − x2
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ln (1 + 2x) = 2x− (2x)2

2
+

(2x)3

3
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(
x3

)
= 2x−2x2+

8x3

3
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(
x3

)
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3 + o
(
x3
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6 + o
(
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)
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3
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(
x3
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4x3

3
+ o

(
x3
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(
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(
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 y → 0 ��	 x → 0�
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(
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(
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f (x) = exp
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3
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(
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=
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2x − 2x2 +
8x3
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)) − 1
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(
x3
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=
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2x − 2x2 +
4x3

3
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=
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4x3
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+
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=
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=
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+
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+
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=
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x : a = 1;
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2 + c = 1
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f ′ (x) =
1√

1 − x2
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+

3x4
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√
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√
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1 + x2

)
�� o

(
x2n

)
�

� )
���� 
�����
������ �������� "
#�����



���������� ���#$�� g (x) = ln
(
x +

√
1 + x2

)
�  � �������

�*���� 
�� α = −1
2 � ��� Ck

− 1
2

=
− 1

2(− 3
2)...(− 1

2
−(k−1))

k! = (−1)k(2k−1)!!
2kk!

�

� 
�
���� 
�����
�����	 �������� "
#�����
 ���(���

���#$�� �����

g′ (x) =
1√

1 + x2
= 1 +

n−1∑
k=1

(−1)k (2k − 1)!!
2kk!

x2k + o
(
x2n

)
, x → 0.

+�����
	� ��� f (0) = ln 1 = 0� 
����
��

�,

ln
(
x +

√
1 + x2

)
= x +

n−1∑
k=1

(2k − 1)!!
2kk! (2k + 1)

x2k+1 + o
(
x2n

)
, x → 0.

'���
 f (x) = x2 ln
(
x +

√
1 + x2

)
=

= x2

(
x +

n−1∑
k=1

(2k − 1)!!
2k · k! (2k + 1)

x2k+1 + o
(
x2n

))
=

= x3 +
n−2∑
k=1

(2k − 1)!!
2k · k! (2k + 1)

x2k+3 + o
(
x2n

)
, x → 0.�

	
���
��� �
� '�
����� �-�.#�� 	��	���	 
���������


����
 ��������$����
��	 # 
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 ���������� �

������ # ���#$�� f (x) �


������ ����� / 0��� ����
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 �#
�
���!��% ���#$�% 
������� # �����
��% e �


��!�����	 
�
����� 
�����
�����	 ���(��� ���#$��

���� �� ��2����

������ �����  �����
���! �������� "
#�����
 ���#$�%

f (x) = 5x2
�� o

(
x2n+1

)
�

� f (x) = exp
{
x2 ln 5

}
=

n∑
k=0

(
x2 ln 5

)k

k!
+ o

(
x2n+1

)
=

=
n∑

k=0

x2k lnk 5
k!

+ o
(
x2n+1

)
, x → 0.�

������ �����  �����
���! �������� "
#�����
 ���#$�%

f (x) = exp {4 cos x} �� o
(
x3

)
�

��



� f (x) = exp
{

4
(

1 − x2

2
+ o

(
x3

))}
=

= e4 · exp
{−2x2 + o

(
x3

)}
= e4 · (1 − 2x2 + o

(
x3

))
=

= e4 − 2e4x2 + o
(
x3

)
, x → 0.�

������ ���	� ��������	�
 ���
���� ��������� �����	�

f (x) = (chx)sin x
�� o

(
x5

)
�

� f (x) = exp {sinx · ln chx} =

= exp
{(

x − x3

3!
+ o

(
x4

))
ln

(
1 +

x2

2!
+

x4

4!
+ o

(
x4

))}
=

= exp

{(
x − x3

3!
+ o

(
x4

))((
x2

2!
+

x4

4!
+ o

(
x4

))−

−1
2

(
x2

2!
+ o

(
x2

))2

+ o
(
x4

))}
=

= exp
{(

x − x3

6
+ o

(
x4

))(
x2

2
− x4

12
+ o

(
x4

))}
=

= exp
{

x3

2
− x5

6
+ o

(
x5

)}
= 1 +

x3

2
− x5

6
+ o

(
x5

)
, x → 0.�

������ �����	
����
��� �������

��� �������	� �����������	� ���	������	� �	������	����	�

�����	� ����������
 	������� ���� ��	� � ��

�

�	������	����	� �����	� ����	� ����
�����!

������ ���
� ��������	�
 ���
���� ��������� �����	�

f (x) = sh2 x · chx �� o
(
x2n+1

)
�

""

� f (x) = sh2 x · chx =
1
2

(ch 2x − 1) chx =
1
4

(ch 3x − chx) =

=
1
4

(
n∑

k=0

(3x)2k

(2k)!
−

n∑
k=0

x2k

(2k)!
+ o

(
x2n+1

))
=

=
n∑

k=0

32k − 1
4 · (2k)!

x2k + o
(
x2n+1

)
, x → 0.�

����
���� ��� ��� ������������	� ���� ��	� ������

	����
�����
 ���
���!

ch2 x−sh2 x = 1; ch2 x =
1
2

(ch 2x + 1) ; sh2 x =
1
2

(ch 2x − 1) ;

ch 2x = ch2 x + sh2 x; sh 2x = 2 shx ch x;

sh (x ± y) = shx ch y ± chx sh x;

ch (x ± y) = chx ch y ± sh x sh x;

2 chx ch y = ch (x + y) + ch (x − y) ;

2 shx sh y = ch (x + y) − ch (x − y) ;

2 sh x ch y = sh (x + y) + sh (x − y) .

������ ����
�
�������
��� �������

������ ����� ��������	�
 ���
���� ��������� �����	�

f (x) = sin2 x · cos x �� o
(
x2n+1

)
�

� f (x) = sin2 x · cos x =
(1 − cos 2x)

2
cos x =

cos x − cos 3x

4
=

=
1
4

(
n∑

k=0

(−1)k x2k

(2k)!
−

n∑
k=0

(−1)k (3x)2k

(2k)!
+ o

(
x2n+1

))
=

=
n∑

k=0

(−1)k 1 − 32k

4 · (2k)!
x2k + o

(
x2n+1

)
, x → 0.�

"#



������ ���	� ��������	�
 ���
���� ��������� �����	�

f (x) = sin (chx) �� o
(
x3

)
�

� f (x) = sin (chx) = sin
(

1 +
x2

2
+ o

(
x3

))
��� ��� ����
��� �	���� �� ����
	�
�� � ���� ��	 x → 0� ��
	����
��� ���
��� �	���� ��

�� �������


f (x) = sin
(

1 +
x2

2
+ o

(
x3

))
= sin 1 · cos

(
x2

2
+ o

(
x3

))
+

+ cos 1 · sin
(

x2

2
+ o

(
x3

))
= sin 1 + cos 1 · x2

2
+ o

(
x3

)
, x → 0.�

������ �������	
 ���
��


������ ���
� ��������	�
 ���
���� ��������� �����		√
1 + x, 1√

1+x
, 3
√

1 + x �� o
(
x3

)
�

� ��  ����
��� ��!�	���� �����������	� "#$� ���������
�����		 ��	 α = 1

2 � �������


√
1 + x = 1 +

1
2
x +

1
2

(−1
2

)
2

x2 +
1
2

(−1
2

) (−3
2

)
6

x3 + o
(
x3

)
=

= 1 +
x

2
− x2

8
+

x3

16
+ o

(
x3

)
, x → 0.

!�  ����
��� ��!�	���� �����������	� "#$� ���������

�����		 ��	 α = −1
2 � �������


1√
1 + x

= 1−1
2
x+

(−1
2

) (−3
2

)
2

x2+

(−1
2

) (−3
2

) (−5
2

)
6

x3+o
(
x3

)
=

= 1 − x

2
+

3x2

8
− 5x3

16
+ o

(
x3

)
, x → 0.

��  ����
��� ��!�	���� �����������	� "#$� ���������

�����		 ��	 α = 1
3 � �������


#%

3
√

1 + x = 1 +
1
3
x +

1
3

(−2
3

)
2

x2 +
1
3

(−2
3

) (−5
3

)
6

x3 + o
(
x3

)
=

= 1 +
x

3
− x2

9
+

5x3

81
+ o

(
x3

)
, x → 0.�

����
���� ��� &�� ����'��	� ���	����	� �������

	����
�����
 ������������ ������(��	�

Ck+1
α =

α (α − 1) . . . (α − (k − 1)) (α − k)
(k + 1)!

= Ck
α · α − k

k + 1
.

������ ����� ��������	�
 ���
���� ��������� �����		√
1 + x2 	 1√

1−x2
�� o

(
x2n+1

)
�

�  ����
��� ����	�� ���)��� �����		� ��������

�����������	� �����* �����	� 	 �����������	� �����	�√
1 + x 	 1√

1+x
� �������
√

1 + x2 = 1+
x2

2
+

n∑
k=2

(−1)k−1 (2k − 3) !!
2k · k!

x2k +o
(
x2n+1

)
, x → 0;

1√
1 − x2

= 1 +
n∑

k=1

(2k − 1)!!
2k · k!

x2k + o
(
x2n+1

)
, x → 0.�

������ ����� ��������	�
 ���
���� ��������� �����	�

f (x) =
√

4 + x �� o(xn)�

���� ���
√

1 + x=1+
x

2
+

n∑
k=2

(−1)k−1 (2k−3)!!
2k · k!

xk+o(xn) , x → 0,

��
√

4 + x = 2
√

1 +
x

4
=

= 2

(
1 +

1
2
· x

4
+

n∑
k=2

(−1)k−1 (2k − 3)!!
2k · k!

(x

4

)k
+ o(xn)

)
=

= 2 +
x

4
+

n∑
k=2

(−1)k−1 (2k − 3)!!
23k−1 · k!

xk + o(xn) , x → 0.�

#+
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���� �
�!�

��
	� �
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 1 + αtm" ���	�
 #�� ���
���
�#���� ! �
������� ��	
��
��	�����

$� �����
	� ��	
��
��	��� �� %�����	 &
!���	�
 
��

��	� ���
�#�� � ��	
��
��	��� 
���	�� �����
�� ��
����	

��
�
	��	�

��� �����	��� ��	
��
��	��� 
���� ��

 Pk(t)
1+αtm %�������

&
!���	�
" �
	 Pk (t) ' �������	�" ��	 #�� �	�!���!�

�������� �� ���� ��
�
	���" ����� ��	
��
���� %�������

&
!���	�
 
���� 1
1+αtm � �������� 		 �
 �������	��

������ ����� ��	
��
���� %������� &
!���	�
 %��!(� 

f (x) = x2+2x+7
1−x4 
� o

(
x4n+3

)
�

� 1
1−x4 =

n∑
k=0

x4k + o
(
x4n+3

)
, x → 0. )������ �����	���	

��	
��
��	��	 �
 �������	� x2 + 2x + 7 � ����	
	� ��
����	
��
�
	��	*

f (x) =
(
x2 + 2x + 7

) (
n∑

k=0

x4k + o
(
x4n+3

))
=

=
n∑

k=0

x4k+2+o
(
x4n+5

)
+

n∑
k=0

2·x4k+1+o
(
x4n+4

)
+

n∑
k=0

7·x4k+o
(
x4n+3

)
=

=
n∑

k=0

(
7 · x4k + 2 · x4k+1 + x4k+2

)
+ o

(
x4n+3

)
, x → 0.�

������ ����� ��	
��
���� %������� &
!���	�
 %��!(� 

f (x) = 2x2+2x−7
x2+x−2


� o(xn)�
� ��	
��
��� %��!(� � ��
	 ����� �������	�
 �

��
������� 
���� � �
������ ��
������ 
���� �
 �����

f (x) = 2 − 3
x2 + x − 2

= 2 +
1

x + 2
− 1

x − 1
.

�+

,��

 f (x) = 2 +
1
2
· 1
1 + x

2

+
1

1 − x
=

= 2 +
1
2

(
n∑

k=0

(−1)k
(x

2

)k
+ o(xn)

)
+

n∑
k=0

xk + o(xn) , x → 0.

,
! !
! ��	�� ���	��� ��	�	�� �	 ���
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 ��#� 

%������" ��" �����
� ��
����	 ��
�
	��	" �������
	�

!����
��� ��
	����*

f (x) =
7
2

+
n∑

k=1

(
(−1)k

2k+1
+ 1

)
xk + o(xn) , x → 0.�

	
���
��� 
�� -��� α ∈ N" �� ���
������ ��	� �

��	
��
��	��� %������� &
!���	�
 (1 + x)α =
∑α

k=1 Ck
αxk

�
�	� ��� � . ��	
��
��	��� �������	�
 %������� ,	����


� �!�	������� ���!� x0 �= 0 ��� ����	� �����

������ ���
���������
� �������

	
���
��� 
�� ,
! !
! (ln (1 + x))′ = 1
1+x � ln 1 = 0"

�� %�����
 ��$� ���	� ���� �����	�
 ���	������
��	�

%������ ����� /�����
 ��0� ���	� ���� �����	�
 �� %������

��$� �� ��
���� ������� %��!(���

��	
��
��	��	 ���
��%���	�!�� %��!(�� ������� �"

�
���
� %��!(� � ��
	 ���	���� !�����
(�� %��!(�� ��



ln (1 + αxm) �" ��������" !����
����
������ ����� ��	
��
���� %������� &
!���	�
 %��!(� 

f (x) = ln 4−x
(3−2x)(5−x) 
� o(xn)�

� f (x) = ln
4
15

+ ln
(
1 − x

4

)
− ln

(
1 − 2x

3

)
− ln

(
1 − x

5

)
=

= ln
4
15

−
n∑

k=1

xk

4kk
+

n∑
k=9

2kxk

3kk
+

n∑
k=1

xk

5kk
+ o(xn) =

�1



= ln
4
15

+
n∑

k=1

xk

k

((
2
3

)k

+
1
5k

− 1
4k

)
+ o(xn) , x → 0.�

������ ����� ��������	�
 ���
���� ��������� �����	�

f (x) = ln 4+x3

3−x3 �� o
(
x3n+2

)
�

� f (x) = ln
4
3

+ ln
(

1 +
x3

4

)
− ln

(
1 − x3

3

)
=

= ln
4
3

+
n∑

k=1

(−1)k−1 x3k

4kk
+

n∑
k=1

x3k

3kk
+ o

(
x3n+2

)
=

= ln
4
3

+
n∑

k=1

x3k

k

(
(−1)k−1

4k
+

1
3k

)
+ o

(
x3n+2

)
, x → 0.�

���� �����	
���
�� �������� ������
�

�
��

 ������

��

�����	� �����	 �����������	� �����		 ���
���� ������� �

����������	 ����	 x0 �= 0 �����	� 	� ���� ������ 

�! ��
���� ����
����� t = x − x0 	������� ������

����	��� � �����������	� ���
���� ��������� �����		

g (t) = f (x0 + t) �� ��"� #� ������� 	$
���"�% ��� 	 	�������

������&

'! �������� ������ �����������	� ���
���� ���������

�����		 g (t) = f (x0 + t)&
�! �(��������� �'������ ��
��� ����
����"�% �� ���


����������� �(��#��	� x − x0 �
���� ����
����� t�
������ ���
� ��������	�
 ���
���� ������� �

����������	 ����	 x0 = −1 �����	� f (x) = ln (x + 2)
�� o((x + 1)n)�
� ����
 t = x + 1. ��� ��� f (x) = ln (x + 2) = ln (1 + (1 + x))%
�� g (t) = ln (1 + t) =

∑n
k=1 (−1)k−1 tk

k + o(tn) , t → 0. ��"��

)*

f (x) = ln (1 + (1 + x)) =
n∑

k=1

(−1)k−1 (x + 1)k

k
+ o((x + 1)n) ,

x → −1.�

����
���� ��� +� ��'(����� �(����	�
 �'������ ��
���

����
���(�� �������	� �����������	� ���
���� ���������

�����		 g (t) = f (x0 + t) �� �������� �����	�
 ������������

�����	�

������ ����� ��������	�
 ���
���� ������� �

����������	 ����	 x0 = −1 
��"������ f (x) = x3�

�f (x) = (x + 1)3 − 3 (x + 1)2 + 3 (x + 1) − 1.

,������
 ���'�	 ���
�� ��#� � �	�����
 ������ �

��� ��� ���
��� ������� �������� ����	��
��"� �	��

�����������	�
 �����		 � ��������� ����������	 ����	

�����������	�% �� ��	 �����		 ����� ���'���	
� �'���	�


��	
��	� �� ������-	� 
�
���( 

.� �����������	� ���
���� ������� � ����������	 ����	

x0 �����		 f (x) ���#�� �����������
 ��'�� ��

� ���"��
(�

�	�� ak (x − x0)
k% � ������� ��	�����( ��� ����'�(�

���"��
(��

)� +�������	
� �����(�	� ���'�� � �(��#��		 (x − x0)
k

��	 ��'�
 k�

/� �����������	� �����		 ��

�� �� �������
 (x − x0)
k

��	 x �→ x0 �� ���������	� �� �������� �����������	�


���
���� ������� � ����������	 ����	 x0�

���� �����	
���
�� �������� ������
 ��� x → ∞
0�� �������	� �����������	� ���
���� ������� �����		

f (x) ��	 x → ∞ �� o
(

1
xn

)
�(������
 ��
��� ����
����� t = 1

x %

)1



��������	
�� �
���	
� ���	
���� ������� f
(

1
t

)
�
 o(tn) �

���
	�
�� 
������� ������ ��������
��

������ ����� ����������� �
���	
� ���	
�� �������

f (x) =
√

x2 − x − 1 − x �
 o
(

1
x2

)
��� x → +∞�

� ����� t = 1
x � �
��� t → 0 ��� x → ∞�

y (t) =

√
1
t2

− 1
t
− 1 − 1

t
=

√
1 − (t + t2) − 1

t
.

��� ��� ����	��������� ��������	���� �
 o
(
t2

)
� �
  ��	���	�

��������	
�� �
 o
(
t3

)
!

y (t) =

=
1 − 1

2

(
t + t2

) − 1
8

(
t + t2

)2 − 1
16

(
t + t2

)3 + o
((

t + t2
)3

)
− 1

t
=

=
1
t

(
−1

2
t − 5

8
t2 − 5

16
t3 + o

(
t3

))
= −1

2
−5

8
t− 5

16
t2+o

(
t2

)
, t → 0.

f (x) =
√

x2 − x − 1− x = −1
2
− 5

8x
− 5

16x2
+ o

(
1
x2

)
, x → ∞.�

���� �����	
���
�� �������� ������
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	��
 $���
�!

%� "����
� ��������
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��� ���� � � ��������	����

�
���	
� ���	
�����

&� �����������	�
� �
� ���������
��
� �������

��������	
�� �
���	
� ���	
�����

'� (��
)��� �
	� ���
� ��������	���� �� ������
��

*��� �����	
� ��� 	��+�

',

-� ����
��� �
�
����  	���� ��� ��
�.
���
���

���
	���
 ������ ������� ������
����
�

/� 0��
	�
�� 
������� �������

������ ���	� ����������� �
���	
� ���	
�� �������

f (x) = (x + 1) ln x2+2x+2
1−2x−x2 � 
������
��� �
 �� x0 = −1 �


o
(
(x + 1)2n

)
�

� 0��
	��� ������ ��������
� t = x + 1� �
	� ��

g (t) = t ln
1 + t2

2 − t2
= t

(
− ln 2 + ln

(
1 + t2

) − ln
(

1 − t2

2

))
.

��������	���� ��
�.
���
 ���
	���� � �
 �
���� �


o
(
t2n

)
� �
 ��� ��� 	
������� ����� ������� ���
)����
 ��

t� �
 �. �
)�
 ����������� � �
 �
���� �
 o
(
t2n−1

)
!

ln
(
1 + t2

)
=

n−1∑
k=1

(−1)k−1 t2k

k
+ o

(
t2n−1

)
, t → 0;

ln
(

1 − t2

2

)
= −

n−1∑
k=1

t2k

2k · k + o
(
t2n−1

)
, t → 0.

g (t) = t

(
− ln 2 +

n−1∑
k=1

(−1)k−1 t2k

k
+

n−1∑
k=1

t2k

2k · k + o
(
t2n−1

))
=

= −t · ln 2 +
n−1∑
k=1

(
(−1)k−1 +

1
2k

)
t2k+1

k
+ o

(
t2n

)
, t → 0.

0��
	�
�� 
������� ������!

f (x) = − (x + 1) ln 2 +
n−1∑
k=1

(
(−1)k−1 +

1
2k

)
(x + 1)2k+1

k
+

+ o
(
(x + 1)2n

)
, x → −1.�

������ ��
�� ����������� �
���	
� ���	
�� �������

f (x) =
(

x2

2 − 2x
)

cos (2x − 4) � 
������
��� �
 �� x0 = 2 �


o
(
(x − 2)2n+1

)
�

'%



� ����� t = x − 2� ����	
� g (t) =
(

t2

2 − 2
)

cos 2t�

��
������
�

 �
�����
�� ������
�� � ��	������

�� o
(
t2n+1

)
� ��
�����
��
	
���� �����
� ������
���

�� �����	�
� � ���
	��� �� ���� �����
� 	�
����

��
�����
����� ��
 �����
�

 �� �����	�
� ��	�����

��
������
�
� �
 �����
����

��
�����
� ��������  �����
�� �����
� y (t) = cos 2t
�� o

(
t2n+1

)
!

cos 2t =
n∑

k=0

(−1)k 22k · t2k

(2k)!
+ o

(
t2n+1

)
, t → 0.

"���� g (t) =
(

t2

2
− 2

)(
n∑

k=0

(−1)k 22k · t2k

(2k)!
+ o

(
t2n+1

))
.

#�� ��
�
�
�
� �������� �����
��� ������
� $��
��


��
��� ����
�����
�� %�����
� �
���� ������ 
 ��
�
�

����
�
�
 ��� $���
 ����
�����
�!

g (t) =
n∑

k=0

(−1)k t2k+2 · 22k−1

(2k)!
+ o

(
t2n+3

)−
−

n∑
k=0

(−1)k t2k · 22k+1

(2k)!
+ o

(
t2n+1

)
.
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�
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�
�
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��� �����

2k + 2 
 2k� &��	
�� $��
�
� � �
���� ����
 k + 1 �� �����

��
�� ����
�����
�� �� ����	
� � ��

� ������ ��
������


��
�
�
 �
�
�
���� ��
 ��
������� 
��
���� ����
�����
��

'��
��
� � ����� �
�
 k+1 �� ��
� �
���� �����
�
� 
��
���
����
�����
� � �
���� ����
!

g (t) =
n∑

k=0

(−1)k+1−1 t2(k+1) · 22(k+1)−3

(2 (k + 1) − 2)!
+ o

(
t2n+3

)−
−

n∑
k=0

(−1)k t2k · 22k+1

(2k)!
+ o

(
t2n+1

)
.

()

��
 
$�
�
�

 k �� * �� n ����� 
��
�� k +1 
$�
��
��� �� +
�� n+1� ���$��	�� ����� 
��
�� ����
�����
� ����� �������
����
�
�� k� ����	�
�

g (t) =
n+1∑
k=1

(−1)k−1 t2k · 22k−3

(2k − 2)!
+ o

(
t2n+3

)−
−

n∑
k=0

(−1)k t2k · 22k+1

(2k)!
+ o

(
t2n+1

)
.

��
���
� �������
 �����
��
! �
���� 	�
� ������ �����

, ��������� , �
 ������
� ��� ��-�� �������� ��� ��� .��

��
�
�� ��
�������
� ������ �� ������ ����
� 
�� ���
����
�

���
����� /���
 ����� ���������
� 	�
�� ��
������
�
��

���
���-

�� � o
(
t2n+1

)
!

g (t) = 2+
n∑

k=1

(−1)k−1 (
2k2 − k + 8

) t2k · 22k−2

(2k)!
+o

(
t2n+1

)
, t → 0.

����
 �������� $��
�� �
�
�
���� 
�

�

f (x) = 2+
n∑

k=1

(−1)k−1 (
2k2 − k + 8

) (x − 2)2k · 22k−2

(2k)!
+o

(
(x − 2)2n+1

)
,

x → 2.
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��� ����
�����
� �����
� � ������ ���	�
 �

�
���� ����
!
n∑

k=0

(−1)k t2k+2 · 22k−1

(2k)!
+ o

(
t2n+3

)
.

1��$��	
� �
��� 
��
�� ����
�����
� � ������ ����


	
�
$ l� #�� ���� 	���� ����� ���� ��
�
��
 �������


�����
��
� �
�����
��� 	���� ��
 ��
������� $��	
�
��

((



������� ��		�
�����
 ������� ��
�	����� � ��
��� � ��

���
�� ��		�� ���������� �� ���� 2k + 2 = 2l� �����
k = l − 1� ����� ������ 	��
���
 �� � �� n + 1� ��������

�
�������	

∑n+1

l=1
(−1)l−1 t2l · 22l−3

(2l − 2)!
+ o

(
t2n+3

)
.

����� ��	���� ��	�� ������ ��		�
�����
 �� k� �
�����	
�������� ������	�� ���  �� ��� � ��
��	 
�!����� �

������ ���	� �
��������� "�
	���� �����
� "���#�$

f (x) =
(
x2 + 6x + 7

)
3−x−1 � ��
�������� ����� x0 = −3 ��

o((x + 3)n)�
� �������	 ��	��� ��
�	����� t = x + 3� ������	 g (t) =

9
(
t2 − 2

)
e−t ln 3�

�
�������	 "�
	���� %����
��� "���#�$ y (t) = e−t ln 3

�� o(tn)&

y (t) =
n∑

k=0

(−1)k tk lnk 3
k!

+ o(tn) , t → 0.

����� g (t) = 9
(
t2 − 2

) (∑n

k=0

(−1)k tk lnk 3
k!

+ o(tn)

)
.

������
�	 ��	��� ������� ��		�
�����
���������


����� ������ ��		�
�����
 ������ k

g (t) =
n∑

k=0

(−1)k · 9 · tk+2 lnk 3
k!

+ o
(
tn+2

)−
−

n∑
k=0

(−1)k · 18 · tk lnk 3
k!

+ o(tn) =

=
n∑

k=0

(−1)k+2−2 · 9 · tk+2 lnk+2−2 3
((k + 2) − 2)!

+ o
(
tn+2

)−
−

n∑
k=0

(−1)k · 18 · tk lnk 3
k!

+ o(tn) =

'(

=
n+2∑
k=2

(−1)k−2 · 9 · tk lnk−2 3
(k − 2)!

+ o
(
tn+2

)−
−

n∑
k=0

(−1)k · 18 · tk lnk 3
k!

+ o(tn) =

= −18 + 18t · ln 3+

+
n∑

k=2

(−1)k · 9 · tk lnk−2 3
k!

(
k (k − 1) − 2 ln2 3

)
+ o(tn) , t → 0.

����� ��
����� ��	��� ��
�	����� �
� x → −3 �	��	

f (x) = −18 + 18 (x + 3) · ln 3+

+
n∑

k=2

(−1)k · 9 · (x + 3)k lnk−2 3
k!

(
k2 − k − 2 ln2 3

)
+o((x + 3)n) .�


�����
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���
����� ������ � �������	

����� �
����������
� ��� ��� ��� ��������� � ��
��������

����� x0 = −3�
������ ����� �
��������� "�
	���� �����
� "���#�$

f (x) =
(
x2 − 2x − 1

) (
2x − x2

) 1
2 � ��
�������� ����� x0 = 1

�� o
(
(x − 1)2n+1

)
�

� ����� t = x − 1� ������	 g (t) =
(
t2 − 2

)√
1 − t2�

�
�������	 "�
	���� %����
��� "���#�$ y (t) =
√

1 − t2

�� o
(
t2n+1

)
&

y (t) = 1 − t2

2
+

n∑
k=2

(−1)k (2k − 3)!!
2k · k!

t2k + o
(
t2n+1

)
, t → 0.

)	��	

g (t) =
(
t2 − 2

)(
1 − t2

2
+

n∑
k=2

(−1)k (2k − 3)!!
2k · k!

t2k + o
(
t2n+1

))
.

'*



��������	 
�	��� 
������ ��		
�����
�

g (t) = −2 + 2t2 − t4

2
+

n∑
k=2

(−1)k (2k − 3)!!
2k · k!

t2k+2 + o
(
t2n+3

)−
−

n∑
k=2

(−1)k (2k − 3)!!
2k−1 · k!

t2k + o
(
t2n+1

)
=

= −2 + 2t2 − t4

2
+

n+1∑
k=3

(−1)k−1 (2k − 5)!!
2k−1 · (k − 1)!

t2k + o
(
t2n+1

)
+

+
n∑

k=2

(−1)k (2k − 3)!!
2k−1 · k!

t2k + o
(
t2n+1

)
=

=−2+2t2− t4

4
+

n∑
k=3

(−1)k (2k − 5)!!
2k−1 · k!

(k − 3)t2k+ o
(
t2n+1

)
, t → 0.

����� �������� 
�	��� ����	����� 
	��	

f (x) = −2 + 2 (x − 1)2 − (x − 1)4

4
+

+
n∑

k=3

(−1)k (2k − 5)!!
2k−1 · k!

(k − 3) (x − 1)2k+o
(
(x − 1)2n+1

)
, x → 1.�

��

�� ������	
�	 ��	
	���
��
����

��������� �	
 ��� ������	
�� ��	�	�
� ���� lim
x→0

f(x)
g(x) � ����

lim
x→0

f (x)
1

g(x) ��	������	
�	 ��
���� �
����
� ����
�	
�

���	� ������ �
������	���� ��
 x → 0�

���� �����	
���
�� �������� �
�����



	
����
�� ��
���� ��� x → 0

sinx = x − x3

6
+

x5

120
+ o

(
x6

)
,

cos x = 1 − x2

2
+

x4

24
+ o

(
x5

)
,

sh x = x +
x3

6
+

x5

120
+ o

(
x6

)
,

ch x = 1 +
x2

2
+

x4

24
+ o

(
x5

)
,

tg x = x +
x3

3
+

2x5

15
+ o

(
x6

)
,

thx = x − x3

3
+

2x5

15
+ o

(
x6

)
,

arcsinx = x +
x3

6
+

3x5

40
+ o

(
x6

)
,

arctg x = x − x3

3
+

x5

5
+ o

(
x6

)
,

ln (1 + x) = x − x2

2
+

x3

3
− x4

4
+ o

(
x4

)
,

ln (1 − x) = −x − x2

2
− x3

3
− x4

4
+ o

(
x4

)
,

ln
(
x +

√
1 + x2

)
= x − x3

6
+

3x5

40
+ o

(
x6

)
,

��



1
1 + x

= 1 − x + x2 − x3 + x4 + o
(
x4

)
,

1
1 − x

= 1 + x + x2 + x3 + x4 + o
(
x4

)
,

√
1 + x = 1 +

x

2
− x2

8
+

x3

16
+ o

(
x3

)
,

1√
1 + x

= 1 − x

2
+

3x2

8
− 5x3

16
+ o

(
x3

)
.

���� ������ 	
��
�� ����
f(x)
g(x)

��������� �	
 � ������ ����	
	 �� ��	
 ����	��
 ��

����
���	� �������	��	 f (x) �
� ���
��	
� ����� � g (x) �
�

����	���	
��

������ 

�
 ����� lim
x→0

x cos x − arctg x

ln (1 − x3)
.

� ��� ��� � ����	���	
	 ����� ���� �������� ��

��	������� 		 �����
�� ���
��	�� �� �	��� � ������� � !�	

��
	�� �" �
	��# g (x) = −x3 + o
(
x3

)
.

$��
��	
� ����� ���%	 ��	������� �����
�� ���
��	��

�� o
(
x3

)
� ��� ��� cos x ����%�	��� �� x� �� 	 � �
	��	�

��	�������� �� o
(
x2

)
�

cos x = 1 − x2

2
+ o

(
x2

)
, arctg x = x − x3

3
+ o

(
x3

)
.

f (x) = x − x3

2
+ o

(
x3

) − x +
x3

3
+ o

(
x3

)
= −x3

6
+ o

(
x3

)
.

�� �� lim
x→0

f (x)
g (x)

= lim
x→0

−x3

6 + o
(
x3

)
−x3 + o(x3)

=
1
6
.�

������ 

�
 ����� lim
x→0

sin
(

x
1−x

)
+ ln (1 − x) − x2

2

tg (shx) − arctg x
.

&'

� � ��	�����
	��� tg x � sh x ��	 �
	�� �	��� � �

��	��	 � ������� ��
�%��	
���� � � ��	�����
	��� arctg x
�
	� ��	��	 � ������� ( �������	
	�� )�*���� � ����	���	
	

�
	� ��	��	 � ������� ��
��	� �� +� )�	������� �����
��

���
��	�� ����	���	
� ����� �� o
(
x3

)
#

��� ��� sh x = x +
x3

3!
+ o

(
x3

)
, tg t = t +

t3

3
+ o

(
t3

)
, t → 0, ��

tg (shx) =
(

x +
x3

3!
+ o

(
x3

))
+

(x + o(x))3

3
+ o

(
x3

)
=

= x +
x3

3!
+ o

(
x3

)
+

x3

3
+ o

(
x3

)
= x +

x3

2
+ o

(
x3

)
.

��� ��� arctg x = x − x3

3 + o
(
x3

)
� ��

g (x) = x +
x3

2
+ o

(
x3

) − (
x − x3

3
+ o

(
x3

))
=

5x3

6
+ o

(
x3

)
.

��� ��� ����	��  
����� ����� ��	�����
	���� �� ��������

��	�����
	��� ������� �����
����

)�	������� �����
�� ���
��	�� ���
��	
� ����� ��

o
(
x3

)
� ,���	���	
� ����� x

1−x ��	������� � ��������- ��

o
(
x2

)
� ��� ��� ���
��	
� ������� x#

x

1 − x
= x

(
1 + x + x2 + o

(
x2

))
= x + x2 + x3 + o

(
x3

)
.

��� ��� sin t = t − t3

3! + o
(
t3

)
, t → 0� ��

sin
(

x

1 − x

)
=

(
x + x2 + x3 + o

(
x3

)) − (x + o(x))3

3!
+ o

(
x3

)
=

= x + x2 + x3 + o
(
x3

) − x3 + o
(
x3

)
3!

= x + x2 +
5x3

6
+ o

(
x3

)
.

ln (1 − x) = −x − x2

2
− x3

3
+ o

(
x3

)
.

&.



f (x) =
(

x + x2 +
5x3

6
+ o

(
x3

))
+

+
(
−x − x2

2
− x3

3
+ o

(
x3

)) − x2

2
=

x3

2
+ o

(
x3

)
.

lim
x→0

f (x)
g (x)

= lim
x→0

x3

2 + o
(
x3

)
5x3

6 + o(x3)
=

3
5
.�

������ ���� ����� lim
x→0

tg
(
xe−x2

)
− ln(ch2 x)

x

arctg (x cos) − tg x
.

� ���	
�����
�� tg x � arctg x ��������
� �
����

������
���� ���
�� ������� ��������� ���	
������ ��������

�������
� �
���
����� 	���� 	� o
(
x3

)
�

� ������
�� 
�� 
�� ��
�!�� cos x ��
� ���
� 
� x�
�
����� cos x ���	
������� 	� o

(
x2

)
"

x cos x = x

(
1 − x2

2
+ o

(
x2

))
= x − x3

2
+ o

(
x3

)
.

tg x = x +
x3

3
+ o

(
x3

)
, arctg t = t − t3

3
+ o

(
t3

)
, t → 0.

#��	� arctg (x cos x) =

=
(

x − x3

2
+ o

(
x3

)) − (x + o(x))3

3
+ o

(
x3

)
=

= x − x3

2
+ o

(
x3

) − x3 + o
(
x3

)
3

+ o
(
x3

)
= x − 5x3

6
+ o

(
x3

)
.

g (x) = x− 5x3

6
+o

(
x3

)−(
x +

x3

3
+ o

(
x3

))
= −7x3

6
+o

(
x3

)
.

#�� ��� 
��	�
� ����
�� ��
�� ���	
�����
��� �� ���
�
��

���	
�����
�� �$���
� �������
��

%&

���	
����� �������� �������
� ��
������ 	���� 	�

o
(
x3

)
� '�
��
�
�� ���	
������� 	� o

(
x2

)
� ��� ��� �
�

��
� ���
� 
� x� #�� ��� ������
� ����������
�� ��
�!��
����	�� x2� �� � ���	
�����
�� ��
��
�
�$ 	�
�����
� �����

	�� ����$( ���
� et = 1+t+o(t)� ���	�� ��	
������ −x2 ���
��

t� ��������" xe−x2
= x

(
1 − x2 + o

(
x2

))
= x − x3 + o

(
x3

)
�

#�� ��� tg t = t +
t3

3
+ o

(
t3

)
, t → 0, ��

tg
(
xe−x2

)
=

(
x − x3 + o

(
x3

))
+

(x + o(x))3

3
+ o

(
x3

)
=

= x − x3 + o
(
x3

)
+

x3 + o
(
x3

)
3

+ o
(
x3

)
= x − 2x3

3
+ o

(
x3

)
.

)����������
��� ��
�!�� 	����
� 
� x� �������

���	
������� �� 	� o
(
x4

)
� *��	��� �����������
���� ��
�
�
�

�� 
� ������������� �� ������� ��
� �
�� 
����
�� 
� ���

��� �
 ������
� ������
��� �����������
��� ��
�!��� ��

�	��
�� ���	
������ �������� �������
� ��
�!��

ln
(
ch2 x

)
= 2 ln (chx) = 2 ln

(
1 +

x2

2
+

x4

24
+ o

(
x4

))
=

= 2

⎛
⎜⎝x2

2
+

x4

24
+ o

(
x4

) −
(

x2

2 + o
(
x2

))2

2
+ o

(
x4

)⎞⎟⎠ =

= 2
(

x2

2
+

x4

24
+ o

(
x4

) − x4

8
+ o

(
x4

))
= x2 − x4

6
+ o

(
x4

)
.

f (x) = x− 2x3

3
+o

(
x3

)− 1
x

(
x2−x4

6
+o

(
x4

))
=−x3

2
+o

(
x3

)
.

lim
x→0

f (x)
g (x)

= lim
x→0

−x3

2 + o
(
x3

)
−7x3

6 + o(x3)
=

3
7
.�

%+



������ ���� ����� lim
x→0

(ln (e (1 + 2x)))1/4 +
√

1 − x − 2 cos x

exp
(

x√
1−4x

)
− (x + 1) ch

(√
5x

) .
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��� ��	��� �	� �������� �
�������


� �
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��
���
���

��! 
 ���
 �
������ �
�
���������� ����� ��� ���������

!����
� ������

"	�������� #
	�
�
� $� �
	��� ����������� �	
�� �


o
(
x3

)
�

%�� �
!
 ��
�� �	��������� �	!
���� �
 ��������
�

#
� &�� �
 o
(
x3

)
� #
� &�� 1√

1−4x
�	�������� � �
��
����

�
 o
(
x2

)
� ��  � 
�� 
��
������ �� x�

'�  � �
1√

1 − t
= 1 +

t

2
+

3t2

8
+ o

(
t2

)
, t → 0, �


x√
1 − 4x

= x

(
1 +

4x

2
+

3 (4x)2

8
+ o

(
x2

))
= x+2x2 +6x3 +o

(
x3

)
.

exp
(

x√
1 − 4x

)
= exp

(
x + 2x2 + 6x3 + o

(
x3

))
=

= 1 +
(
x + 2x2 + 6x3 + o

(
x3

))
+

(
x + 2x2 + o

(
x2

))2

2
+

+
(x + o(x))3

6
+ o

(
x3

)
=

= 1+x+2x2 +6x3 +
x2 + 4x3 + o

(
x3

)
2

+
x3 + o

(
x3

)
6

+ o
(
x3

)
=

= 1 + x +
5x2

2
+

49x3

6
+ o

(
x3

)
.

()

"	�������� #
	�
�
� $� �
	��� ��
	
� ����

������������ '�  � x+1 ∼ 1 �	� x → 0� �
 !���	�
����� 
�
#
� &�� �	���������� �
 o

(
x3

)
* ch

(√
5x

)
= 1 + 5x2

2 + o
(
x3

)
.

(x + 1) ch
(√

5x
)

= (x + 1)
(

1 +
5x2

2
+ o

(
x3

))
=

= 1 + x +
5x2

2
+

5x3

2
+ o

(
x3

)
.

g (x) =
(

1 + x +
5x2

2
+

49x3

6
+ o

(
x3

))−

−
(

1 + x +
5x2

2
+

5x3

2
+ o

(
x3

))
=

17x3

3
+ o

(
x3

)
.

"	�������� #
	�
�
� $� �
	��� ��������� �	
�� �


o
(
x3

)
� '�  � �
!�	�#����� �� #
� &�� �	���������

#
	�
�
� $� �
	��� � 
 	����
��� �
� � +� � �� �
� �

e� �
 �
��
���
���� #
	�
�
� �	�
�	��
����� �
!�	�#��

�	
���������*

ln (e (1 + 2x)) = ln e + ln (1 + 2x) =

= 1+2x− (2x)2

2
+

(2x)3

3
+o

(
x3

)
= 1+2x−2x2 +

8x3

3
+o

(
x3

)
.

(1 + t)1/4 = 1 +
t

4
+

1
4 · (−3

4

)
t2

2
+

1
4 · (−3

4

) · (−7
4

)
t3

6
+ o

(
t3

)
=

= 1 +
t

4
− 3t2

32
+

7t3

128
+ o

(
t3

)
.

(ln (e (1 + 2x)))1/4 =
(

1 + 2x − 2x2 +
8x3

3
+ o

(
x3

))1/4

=

= 1 +

(
2x − 2x2 + 8x3

3 + o
(
x3

))
4

− 3
(
2x − 2x2 + o

(
x2

))2

32
+

+
7 (2x + o(x))3

128
+ o

(
x3

)
=

(,



= 1 +
x

2
− x2

2
+

2x3

3
+ o

(
x3

)− 3x2

8
+

3x3

4
+ o

(
x3

)
+

7x3

16
+ o

(
x3

)
.
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����������� ����	��
��� ����
�	� ��	�����	� ��������



�������� �� ���� �� ��	���	� �������� 

��������

√
1 − x = 1 − x

2
− x2

8
− x3

16
+ o

(
x3

)
, cos x = 1 − x2

2
+ o

(
x3

)
.

��
��
�����
� ���
	���� ���	
�� �
� ��	�����	�

�������� �
���� �
�� �������	� �� 
� � !�

f (x) = (ln (e (1 + 2x)))1/4 +
√

1 − x − 2 cos x =

= 1 +1 −2+
+x

2 −x
2 +

+
(
−x2

2 − 3x2

8

)
−x2

8 +x2+

+
(

2x3

3 + 3x3

4 + 7x3

16

)
−x3

16 + o
(
x3

)
=

=
(

2
3

+
3
4

+
3
8

)
x3 + o

(
x3

)
=

43
24

x3 + o
(
x3

)
.

lim
x→0

f (x)
g (x)

= lim
x→0

43
24x3 + o

(
x3

)
17x3

3 + o(x3)
=

43
136

.�

������ ��	� "���	 lim
x→0

ch x + cos
(

2x
2+x2

)
− 2 6

√
1 + 3x4

x arctg x − exp
(

x2

1+x2

)
+ 1

.

� #��������
 $ �������� %���&	�� 

�������
���� ���

����
���
��	� %����
�� '��
����� 
����(	� ��
���

�������� 
�����	� )�

� ����(��	� �� x ��
��	�

����
���
��	�� 
����(�*�� ��
��� ������ 
�����	� #�������

��������
���� %���&		 $ ������ %���&	�� ����	�� 

�(���

  

%���&	� $ ������� �� ����
���
��	� ��(� ����� 
����(���

��
��� ������ 
�����	�

� ����
���
��		 ���������
� �
��� ��
����� �������

���	��� ��	���(��
�� +�
��� x · arctg x ∼ x2� x2

1+x2 ∼ x2 	

1 − exp
(

x2

1+x2

)
∼ x2 ��	 x → 0� ,���� �
��� ������� �������

���(� ���	��� ��	���(��
�� )���
���
��	� ���������
� ��

o
(
x3

)
����
�������� ��� ��� 	���� �	� o

(
x3

)
	 �� ������
���

�
����� ��
���

)���
���	� %����
�� '��
����� ���������
� ����	 ��

o
(
x5

)
� ��� ��� ���������
 ����(���
� �� x� �� ��� ��
�������

����
���	�� �� o
(
x4

)
� �� �
�� arctg x = x − x3

3 + o
(
x4

)
�

-��������
� ����	 x2

1+x2 ��
������� ����
���	�� �� o
(
x3

)
.

x2

1 + x2
= x2

(
1 − x2 + o

(
x3

))
= x2 − x4 + o

(
x5

)
.

����� exp
(

x2

1 + x2

)
= exp

(
x2 − x4 + o

(
x5

))
=

= 1 +
(
x2 − x4 + o

(
x5

))
+

1
2

(
x2 + o

(
x3

))2 + o
(
x5

)
=

= 1 + x2 − 1
2
x4 + o

(
x5

)
.

��(��. 

������� � �	�� 1
2

(
x2 + o

(
x2

))2
���
��

1
2

(
x2 + o

(
x3

))2
��	����� � ���	(��	� �����
�	

����
���
��	� �� o
(
x4

)
�

g (x) = x2−x4

3
+o

(
x5

)−(
1 + x2 − x4

2
+ o

(
x5

))
+1 =

x4

6
+o

(
x5

)
.

/
����� ��
�� ���������
� �������� �����
��

����
���
��	� ������� ����	
����

)���
���	� %����
�� '��
����� �	

	��
� ����	 ��

o
(
x5

)
.

ch x = 1 +
x2

2
+

x4

4!
+ o

(
x5

)
.

 0



��� ��� 2x
2+x2 ∼ x ��� x → 0� ��	�
�	 � 
��
�� ��
����

� �� ����	�����
�� 	������� 
��
� ������ 
��
�� 	����
���

�� ��� ������
� ��	����

� ����	������ �� o
(
x4

)
� �� �	��

�
���
����� ����� ��	����

� ����	������ �� o
(
x3

)
 

2x

2 + x2
=

x

1 + x2

2

= x

(
1 − x2

2
+ o

(
x3

))
= x − x3

2
+ o

(
x4

)
.

����� cos
(

2x

2 + x2

)
= cos

(
x − x3

2
+ o

(
x4

))
=

= 1 − 1
2

(
x − x3

2
+ o

(
x4

))2

+
1
24

(
x + o

(
x2

))4 + o
(
x5

)
=

= 1 − x2

2
+

x4

2
+

x4

24
+ o

(
x5

)
= 1 − x2

2
+

13x4

24
+ o

(
x5

)
.

2 6
√

1 + 3x4 = 2
(

1 +
3x4

6
+ o

(
x5

))
= 2 + x4 + o

(
x5

)
.

f (x) = 1 +
x2

2
+

x4

24
+ o

(
x5

)
+

(
1 − x2

2
+

13x4

24
+ o

(
x5

))−

− (
2 + x4 + o

(
x5

))
= −5x4

12
+ o

(
x5

)
.

lim
x→0

f (x)
g (x)

= lim
x→0

−5x4

12 + o
(
x5

)
x4

6 + o(x5)
= −5

2
.�

������ ���� !���� lim
x→0

e
√

1−2x +
e(x3+x2−1)

x+1

sh
(
ln

(
1 + x

2

)) − sin
(
ln

(
1 + x

2

)) .
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'(

����
�#�	� ������ �
����� &�)���� ����	����� �
���
�����

����� �������� *������
� �� o
(
x3

)
�

+��������
�	��# ��
���# ����	������� �� o
(
x3

)
 

ln
(
1 +

x

2

)
=

x

2
− 1

2

(x

2

)2
+

1
3

(x

2

)3
+ o

(
x3

)
.

sh
(
ln

(
1 +

x

2

))
=

(
x

2
− 1

2

(x

2

)2
+

1
3

(x

2

)3
+ o

(
x3

))
+

+
1
6

(x

2
+ o(x)

)3
+ o

(
x3

)
.

&����# 	����� ���
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�

�����
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�
������	� 	 ����� �� 	������ � ����	�����
��

�����
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�	�� ,���
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����	�����
�� �����
������
�	���� 	�
�	� ����
���	�

������ �
����� $����������
��

g (x) = 2 · 1
6

(x

2
+ o(x)

)3
+ o

(
x3

)
=

x3

24
+ o

(
x3

)
.

"
�����

� ����	����� 
�	������ ����� ��������

*������
� �� o
(
x3

)
 

√
1 − 2x = 1 − (2x)

2
− (2x)2

8
− (2x)3

16
+ o

(
x3

)
=

= 1 − x − x2

2
− x3

2
+ o

(
x3

)
.

exp
{√

1 − 2x
}

= exp
{

1 − x − x2

2
− x3

2
+ o

(
x3

)}
=

= e · exp
{
−x − x2

2
− x3

2
+ o

(
x3

)}
=

= e

(
1 −

(
x +

x2

2
+

x3

2
+ o

(
x3

))
+

1
2

(
x +

x2

2
+ o

(
x2

))2

−

− (x + o(x))3

6
+ o

(
x3

))
=

'-



= e

(
1 −

(
x +

x2

2
+

x3

2
+ o

(
x3

))
+

(
x2 + x3 + o

(
x3

))
2

−

−x3

6
+ o

(
x3

))
= e − ex − ex3

6
+ o

(
x3

)
.

1
1 + x

= 1 − x + x2 − x3 + o
(
x3

)
.

e
(
x3 + x2 − 1

)
x + 1

=
[
e
(
x3 + x2 − 1

) (
1 − x + x2 − x3 + o

(
x3

))]
=

= e
[(

x3 (1 + o(1)) + x2 (1 − x + o(x))−
− (

1 − x + x2 − x3 + o
(
x3

)))]
= −e + ex + ex3 + o

(
x3

)
.

f (x) = e − ex − ex3

6
+ o

(
x3

)
+

(−e + ex + ex3 + o
(
x3

))
=

=
5ex3

6
+ o

(
x3

)
.

lim
x→0

f (x)
g (x)

= lim
x→0

5ex3

6 + o
(
x3

)
x3

24 + o(x3)
= 20e.�

������ ���� �����

lim
x→0+0

ln
(
(1 − 3x)2/3 − (1 + 3x)2/3 + ch

√
8x − 8

3x2
)

sin (sinx) − arctg (arctg x)
.

� ���	
����� 
���������� �������� ��������� 	� o
(
x3

)
�

sin t = t − t3

3!
+ o

(
t3

)
, arctg t = t − t3

3
+ o

(
t3

)
, t → 0.

sin (sinx) =
(

x − x3

6
+ o

(
x3

)) − (x + o(x))3

6
+ o

(
x3

)
=

= x − x3

3
+ o

(
x3

)
.

��

arctg (arctg x) =
(

x − x3

3
+ o

(
x3

)) − (x + o(x))3

3
+ o

(
x3

)
=

= x − 2x3

3
+ o

(
x3

)
.

g (x) =
(

x − x3

3
+ o

(
x3

))−
(

x − 2x3

3
+ o

(
x3

))
=

x3

3
+o

(
x3

)
.

���	
����� ��
������ �������� ��������� 	� o
(
x3

)
�

��� ��� � ������ 	��� 
�������� ����� ������ 
�������


����	� �! � �������� 
������� ������ �
" 
�����! ��

(1 − 3x)2/3 − (1 + 3x)2/3 =

=−2·2
3

(3x)−2·
(

2
3

)·(−1
3

)·(−4
3

)
6

(3x)3+o
(
x3

)
=−4x−8

3
x3+o

(
x3

)
,

ch
√

8x = 1 +

(√
8x

)2

2
+

(√
8x

)4

24
+

(√
8x

)6

24 · 30
+ o

(
x3

)
=

= 1 + 4x +
8x2

3
+

32x3

45
+ o

(
x3

)
.

f (x) = ln
((

−4x − 8x3

3
+ o

(
x3

))
+ 1 + 4x +

8x2

3
+

+
32x3

45
+ o

(
x3

)− 8x2

3

)
=ln

(
1− 88

45
x3+ o

(
x3

))
=−88

45
x3+o

(
x3

)
,

lim
x→0+0

f (x)
g (x)

= lim
x→0+0

−88
45x3 + o

(
x3

)
x3

3 + o(x3)
= −88

15
.�

������ ��	� ����� lim
x→0

arctg
(
3 + x2

) − arctg (2 + cosx)
ln (1 + x) − ex + 1

.

�#



� ��������	
 ���
�����
� ���
�
�� ���
����� �� o
(
x2

)
�

g (x) = x− x2

2
+o

(
x2

)−(
1 + x +

x2

2
+ o

(
x2

))
+1 = −x2+o

(
x2

)
.

����
���� ����������� � �	�
	��
� ����	 �� ����
����

� ��
� ��	 x → 0� ����	�������	���
 arctg
(
3 + x2

)
	

��������	
 ���	������� ���
�
�� ���
����� �� o(x)�(
arctg

(
3 + x2

))′ =
2x

1 + (3 + x2)2
=

1
5
· x

1 + 3x
5 + x2

10

=
x

5
+ o(x) .

 ���� !�
� �� "# arctg
(
3 + x2

)
= arctg 3 +

x2

10
+ o

(
x2

)
.

���
��	��� (arctg (2 + cosx))′ =
− sin x

1 + (2 + cosx)2
=

=
− sin x

5 + 4 cosx + cos2 x
=

−x + o(x)
5 + 4 + o(x) + 1 + o(x)

= − x

10
+o(x) .

 ���� arctg (2 + cosx) = arctg 3 − x2

20
+ o

(
x2

)
.

f (x)=arctg 3+
x2

10
+o

(
x2

)−(
arctg 3 − x2

20
+ o

(
x2

))
=

x2

20
+o

(
x2

)
.

lim
x→0

f (x)
g (x)

= lim
x→0

x2

20 + o
(
x2

)
−x2 + o(x2)

= − 1
20

.�

������ ���� $���	 lim
x→0

arcsin
(

1√
2

+ 1
2x

)
− arctg

(
1 + x

√
2
)

(cos 2x)ctg x − (1 − th 5x)2/5
.

� ��������	
 ���
�����
� ����	 �� ���
�
�  ��
��� ��
o
(
x2

)
�

ln cos 2x=ln

(
1− (2x)2

2
+ o

(
x3

))
=ln

(
1−2x2+ o

(
x3

))
=−2x2+o

(
x3

)
.

%&

(cos 2x)ctg x = exp
{

cos x · ln cos 2x

sinx

}
=

= exp

{
(1 + o(x)) · (−2x2 + o

(
x3

))
(x + o(x2))

}
= exp

{−2x + o
(
x2

)}
=

= 1+
(−2x + o

(
x2

))
+

1
2

(−2x + o
(
x2

))2 = 1−2x+2x2+o
(
x2

)
.

(1 − th 5x)2/5 =
(
1 − 5x + o

(
x2

))2/5 =

= 1 +
2
5

(−5x + o
(
x2

)) − 3
25

(−5x + o
(
x2

))2 + o
(
x2

)
=

= 1 − 2x − 3x2 + o
(
x2

)
.

g (x) =
(
1 − 2x + 2x2 + o

(
x2

))−
− (

1 − 2x − 3x2 + o
(
x2

))
= 5x2 + o

(
x2

)
.

��������	
 �	�
	��
� ����	 ���
�
�� ���
����� ��

o
(
x2

)
� '
� (���� ����)��	
� ��������	�� ���	������� ���	)

�
����
�) �� o(x)�

arcsin
(

1√
2

+
x

2

)′
=

1

2

√
1 −

(
1√
2

+ x
2

)2
=

1

2
√

1
2 − x√

2
+ o(x)

=

=
1√

2
√

1 − x
2
√

2
+ o(x)

=
1√
2

(
1 +

x

4
√

2
+ o(x)

)
.

arcsin
(

1√
2

+
x

2

)
=

π

4
+

x√
2

+
x2

16
+ o

(
x2

)
.

���
��	���

arctg
(
1+x

√
2
)′

=
1√

2
(
1+

√
2x+ o(x)

) =
1√
2

(
1−

√
2x+ o(x)

)
.

arctg
(
1 + x

√
2
)

=
π

4
+

x√
2
− x2

2
+ o

(
x2

)
.

%*



f (x) =
(

π

4
+

x√
2

+
x2

16
+ o

(
x2

))−

−
(

π

4
+

x√
2
− x2

2
+ o

(
x2

))
=

9x2

16
+ o

(
x2

)
.

lim
x→0

f (x)
g (x)

= lim
x→0

9x2

16 + o
(
x2

)
5x2 + o(x2)

=
9
80

.�

���� ������ �	
��

 �
�� f (x)
1

g(x)

��������� �	
 � ������ ����	
	 �� ��	
 ����	��
 ��

����
���	� �������	��	 f (x) �
� ��������� � g (x) �
�
�������	
� ��	�	���

������ 

��
 ����� lim
x→0

(√
1 − x2

cos x

) 1
x4

.

� ��� ��� ����	���	
� �������	
� �����	��� ��		�

�	��	���� ��	�	��� �� ��	������� ��������	 �����
��

 ��
��	�� �� o
(
x4

)
!��� �� "#$�

f (x) =
1 − 1

2x2 − 1
8x4 + o

(
x4

)
1 − 1

2x2 + 1
24x4 + o(x4)

=

=
(

1 − x2

2
− x4

8
+ o

(
x4

))(
1 −

(
−x2

2
+

x4

24
+ o

(
x4

))
+

+
(
−x2

2
+ o

(
x2

))2

+ o
(
x4

))
=

=
(
1−x2

2
−x4

8
+ o

(
x4

))(
1 +

x2

2
+

5x4

24
+ o

(
x4

))
=1−x4

6
+o

(
x4

)
.

lim
x→0

f (x)g(x) = lim
x→0

(
1 − x4

6
+ o

(
x4

)) 1
x4

= exp
{
−1

6

}
.�

%&

������ 

��
 ����� lim
x→0

(
6

3 + x2
− 3

√
cos 2x

) 5x
arcsin5 x

.

� '��������� �������	
� ��	�	�� arcsin5 x = x5 + o
(
x5

)
�

��� ��� � ���
��	
	 5x� �� ��������	 ����(�� ����������
��	�������� �����
��  ��
��	�� �� o

(
x4

)
)

6
3 + x2

=
2

1 + x2

3

= 2
(

1 − x2

3
+

x4

9
+ o

(
x4

))
.

3
√

cos 2x = 3

√
1 − 2x2 +

2x4

3
+ o(x4) =

= 1 +
1
3

(
−2x2 +

2x4

3
+ o

(
x4

))− 1
27

(−2x2 + o
(
x2

))2 + o
(
x4

)
=

= 1 − 2x2

3
+

2x4

27
+ o

(
x4

)
.

f (x) = 2
(

1 − x2

3
+

x4

9
+ o

(
x4

))−

−
(

1 − 2x2

3
+

2x4

27
+ o

(
x4

))
= 1 +

4x4

27
+ o

(
x4

)
.

lim
x→0

(f (x))g(x) = lim
x→0

(
1 +

4x4

27
+ o

(
x4

)) 5x
x5+o(x5)

= e
20
27 .�

������ 

��
 ����� lim
x→0

(
1 − cos x

sh x2

2

) 1

ln
(1+x)3

1+3x .

� *��	���� ��� 1 − cos x ∼ x2

2 � sh x2

2 ∼ x2

2 ���

x → 0� +�
� ��	�������� ��������	 �� o
(
x3

)
� �� ���
	

�����,	��� ����� �� x2

2 �� ��
���� ����-	��	 1+o(x)
1+o(x) �

%#



���������� �	
����
� �� ��������� �	���
�� �������

����� �������
�� �������
�� ������ �������
� ����

�
���������
� 
 �	����
�� �
���������
� �� o
(
x4

)
� �

���

���
�� ���� �
���������
� ����������� ������� ��
���� �

�
��
���� ! �����
���� ��
����� ����� �	������
� �����
�

�
���������
� ����
�	� �������� ������ ���� �������

������
 ��"���� �
���������
� �� o
(
x4

)
�����������

�����
�# ��
�	��� �������
� ���� �
���������
�

����������� �������
�� �	����
�� �
���������
� �
��


�� o
(
x6

)
� $� ���� 1 − cos x = x2

2 − x4

24 + x6

24·30 + o
(
x6

)
 

sh x2

2 = x2

2 + x6

48 + o
(
x6

)
�

f (x) =
x2

2 − x4

24 + x6

24·30 + o
(
x6

)
x2

2 + x6

48 + o(x6)
=

1 − x2

12 + x4

12·30 + o
(
x4

)
1 + x4

24 + o(x4)
=

=
(

1 − x2

12
+

x4

12 · 30
+ o

(
x4

))(
1 − x4

24
+ o

(
x4

))
=1−x2

12
+o

(
x2

)
,

��� ��� �� ������
� �
����� ��
��� ������ ������
� ���
���

����� �
���������
� �������
�� $� ���� �	 ����
 �
��
�

����	 � �
���������

 �
��
�

%��� 1 − cos x =
x2

2
− x4

24
+ o

(
x4

)
, sh

x2

2
=

x2

2
+ o

(
x4

)
.

f (x) =
x2

2 − x4

24 + o
(
x4

)
x2

2 + o(x4)
=

1 − x2

12 + o
(
x2

)
1 + o(x2)

= 1 − x2

12
+ o

(
x2

)
.

�
������
� &�
����� '����
��� �� o
(
x2

)
�����������

���������� ������
#

ln

(
(1 + x)3

1 + 3x

)
= 3 ln (1 + x) − ln (1 + 3x) =

= 3
(

x − x2

2
+ o

(
x2

)) −
(

3x − 9x2

2
+ o

(
x2

))
= 3x2 + o

(
x2

)
.

()

lim
x→0

(f (x))g(x) = lim
x→0

(
1 − x2

12
+ o

(
x2

)) 1
3x2+o(x2)

= e−
1
36 .�

������ ����� ����
 lim
x→0

⎛
⎝ x tg x

chx − exp
(
−x2

2

)
⎞
⎠

1
ln2(x+

√
1+x2)

.

� *������

� �������
�� +
��
���� �
������
� �� ���
���

����
���� �����#

x tg x = x

(
x +

x3

3
+ o

(
x3

))
= x2 +

x4

3
+ o

(
x4

)
.

,���������� �
������
� �� o
(
x4

)
#

chx− exp
(
−x2

2

)
= 1 +

x2

2
+

x4

24
+ o

(
x4

)−
−

(
1 − x2

2
+

x4

8
+ o

(
x4

))
= x2 − x4

12
+ o

(
x4

)
.

$���� f (x) =
x2 + x4

3 + o
(
x4

)
x2 − x4

12 + o(x4)
=

1 + x2

3 + o
(
x2

)
1 − x2

12 + o(x2)
=

=
(

1 +
x2

3
+ o

(
x2

))(
1 +

x2

12
+ o

(
x2

))
= 1 +

5x2

12
+ o

(
x2

)
.

���������� ������
 ���������� �
������
�� �� o
(
x2

)
 ��

���� ln
(
x +

√
1 + x2

)
�� o(x)#

ln
(
x +

√
1 + x2

)
= ln (x + 1 + o(x)) = x + o(x) .

%��� lim
x→0

(f (x))g(x) = lim
x→0

(
1 +

5x2

12
+ o

(
x2

)) 1
x2+o(x2)

= e
5
12 .�

((



������ ���	� ����� lim
x→0

(
etg x −√

1 + 2x

2x chx − ln (1 + shx)2

)x2 ctg x4

.

� ���	
����� 
��������� 
��
��� ���� ����� �
��	�����


����� �������� ����� ��
������ � ������������

x2 ctg x4 =
x2 cos x4

sinx4
=

x2
(
1 + o

(
x4

))
x4 + o(x4)

=
1 + o

(
x2

)
x2 + o(x2)

.

���	���������� �
������� 	�
������� 
��	
������

�������� ��������� 	� o
(
x2

)
�

2x chx − ln (1 + shx)2 = 2x

(
1 +

x2

2
+ o

(
x3

))−

− 2 ln
(

1 + x +
x3

6
+ o

(
x4

))
=

(
2x + x3 + o

(
x4

))−
− 2

⎛
⎜⎝(

x +
x3

6
+ o

(
x4

)) −
(
x + x3

6 + o
(
x4

))2

2
+

+

(
x + o

(
x2

))3

3
− (x + o(x))4

4

)
= x2 +

5x4

6
o
(
x4

)
.

etg x −√
1 + 2x =

= exp
{

x +
x3

3
+ o

(
x4

)}−
(

1 + x − x2

2
+

x3

2
− 5x4

8
+ o

(
x4

))
=

= 1 +
(

x +
x3

3
+ o

(
x3

))
+

1
2

(
x +

x3

3
+ o

(
x3

))2

+

+
1
6

(
x + o

(
x2

))3 +
1
24

(
x + o

(
x2

))4 + o
(
x4

)−
−

(
1 + x − x2

2
+

x3

2
− 5x4

8
+ o

(
x4

))
= x2 + x4 + o

(
x4

)
.

� 

f (x) =
1 + x2 + o

(
x2

)
1 + 5x2

6 + o(x2)
=

=
(
1 + x2 + o

(
x2

)) (
1 − 5x2

6
+ o

(
x2

))
= 1 +

x2

6
+ o

(
x2

)
.

lim
x→0

(f (x))g(x) = lim
x→0

(
1 +

x2

6
+ o

(
x2

)) 1+o(x2)
x2+o(x2)

= e
1
6 .�

������ ���
� ����� lim
x→+0

(
cos x + x2 · 3

√
x +

1
8

) 3
x3 arctg 1

x

.

� !�� ��� arctg 1
x ∼ π

2 
�� x → 0� �� 	�� 
��������� 
��
���

������ 3
x3 arctg 1

x ∼ 3π
2x3 
�� x → 0�

"
������� 
��	
������� 	� o
(
x3

)
�

f (x) = 1 − x2

2
+ o

(
x3

)
+

1
2
x2 · 3

√
1 + 8x =

= 1 − x2

2
+ o

(
x3

)
+

1
2
x2

(
1 +

8x

3
+ o(x)

)
= 1 +

4x3

3
+ o

(
x3

)
.

lim
x→+0

(f (x))g(x) = lim
x→+0

(
1 +

4x3

3
+ o

(
x3

)) 3π
2x3

= e2π.�

������ ����� ����� lim
x→+0

(
ln

(
1 − x2

2

)
+ chx

)2+cos x
x4

.

� #����$���� 
������ ���
� � 
��	
�������� ��
���
�

�������� ��������� � 
��������� 
��
��� �� ��������


��	��� ������ ������ 
����� ����� # ������� 2+cos x
x4 ∼ 3

x4


�� x → 0�

�%



��������	
 ���

��� ��������� �������	� �� o
(
x4

)
�

f (x) =
(
−x2

2
− x4

8
+ o

(
x4

))
+

+
(

1 +
x2

2
+

x4

24
+ o

(
x4

))
= 1 − x4

12
+ o

(
x4

)
.

lim
x→+0

(f (x))g(x) = lim
x→+0

(
1 − x4

12
+ o

(
x4

)) 3
x4

= e−
1
4 .�

�� ������

���� �����	
���
�� �������� ������


������ �� ��������	�� ���

��� ������� � ����������	

����	 x0 = 5 �
���	� y = log3(2x2 − 20x + 53) ��

o
(
(x − 5)2n+1

)
�

������ �� ��������	�� ���

��� ������� � ����������	

����	 x0 = 2 �
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(
(x − 2)3n+2
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����	 x0 = −π
4 �
���	� y =
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4
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(sinx + cos x) ��

o
((

x + π
4

)2n+1
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����	 x0 = −1 �����	� y = x+2
x(x2+3x+3)

�� o
(
(x + 2)3n+2

)
�

������ ��� ��������	�
 ���
���� ������� � ����������	

����	 x0 = −1 �����	� y = (x + 2) ln (x + 3) �� o((x + 1)n)�
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x − π
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(
x2n+1

)
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(
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1 . lim
x→0

tg x − x
1+x2

arcsinx − x
.

2 . lim
x→0

cos x − ex2

√
1 + x2 − 1

.

3 . lim
x→0

ch 2x
2+x2 + 4 ln 4

√
cos x − 1

e−x2/2 −√
1 − x2

.

4 . lim
x→1

(√
x − 1

2
lnx

) 1
cos2 x sin2(1−x)

.

5 . lim
x→2

(√
3 − x + ln

x

2

) 1
sin2(x−2) .

6 . lim
x→0

ln
(√

1 + x2 − x
)

+ tg x

x
(
chx − ex2

) .

7 . lim
x→0

etg x − x − chx

sin x − arctg x
.

8 . lim
x→0

arcsin (xex) − x 3
√

1 + 3x

ln (1 + sin 2x) − 2 sh (x − x2)
.

9 . lim
x→0

(
x arcsinx

ln (1 + x2)

)ctg2x

.

10 . lim
x→0

e2 sin x+x2 −√
1 + 4x − 5x2

sh 2x − ln
(

1+x
1−x

) .

11 . lim
x→0

3
√

3x + ch 2x − arctg x
x − x

tg x · e−x/2 − ln (1 + x)
.
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12 . lim
x→0

(
shx

chx − cos x + x
+ arcsinx

) 1
1−cos x

.

13 . lim
x→0

(1 + sin (ex − 1) + ln (1 − x))
sh2 x

x5 .

14 . lim
x→0

e
x

sin x − (1 + 2x)
1
2x − ex 3

√
1 − 5x + 2e

9 x3

tg sh x − x
.

15 . lim
x→0

ex2/2 arcsinx − 3
√

cos 3x sh x

ln
(

1+arctg x
1−arctg x

)
− 2x cos x

.

16 . lim
x→0

ln
√

chx − tg2
(

1
2 sh x

)
e
√

1+x2−1 − ch x
.

17 . lim
x→0

((
1 + x2

)2 − (
1 − x2

)−2 + 2
3x3

(tg x − arctg x) ln (e + x)

)1/x

.

18 . lim
x→0

arccos
(√

3
2 + x

4

)
− arcctg

(√
3 + 2x

)
(
ch

(
x
√

3
))ctg x − (1 + tg 2x)3/4

.

19 . lim
x→0

(
tg x − 3

√
x3 − x5

sin x + shx
− 2

x2
ln (cos x)

) 1
x2

.

20 . lim
x→+0

(
x

sinx
− sh x

x
+

sin4 x

10

) 1
ln(tg x)

.

21 . lim
x→0

((
1 − sh

(
x2 − x

))−1 · 1
cos x

+ tg x

) 3
x−ln(1+x+x2)

22 . lim
x→0

π + sh 2x − 4 arctg (ex)
tg x − sin x

.

23 . lim
x→0

x + 2 ln ln(1+x)
x

π − 2 arcsin (1 − 2x4)
.
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24 . lim
x→+∞e−

x2

3

(
x

4
ln

x + 2
x − 2

)x4

.

25 . lim
x→+∞e−

x2

2

(√
x2 + 2x −√

x2 − 2x

2

)x4

.

26 . lim
x→+∞

(
ln

(
tg2 ln

(
x + 1

x
− sh2 1

x
+

1
x3

))
+ 4 lnx

)
.

27 . lim
x→+0

(
4 lnx − ln

(
x ctg x − 3

√
1 − sh2 x
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.

28 . lim
x→+0

(
3 ln x − ln

(
1
x
− 1

3
sin 2x − cos x

sh x

))
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1 . 1 +
n∑

k=1

(−1)k−1·2k

3k·k·ln 3
(x − 5)2k + o

(
(x − 5)2n+1

)
.

2 .
n∑

k=0

58·lnk 5
k! (x − 2)3k + o

(
(x − 2)3n+2

)
.

3 .
n−1∑
k=1

22k−1

(2k)! x2k+1 + o
(
x2n

)
.

4 . (x + 1) ln 2 +
n−1∑
k=1

(
(−1)k−1 + 1

2k

)
(x+1)2k+1

k + o
(
(x + 1)2n

)
.

5 .
n−1∑
k=0

(−1)k−1
√

2
(2k+1)!

(
x + π

4

)2k+2 + o
((

x + π
4

)2n+1
)

.

6 . (x − 2)2+(x − 2)3+2 (x − 2)4+
n−2∑
k=3

(3k−2)(3k−5)·...·1
k! (x − 2)k+2+

+ o((x − 2)n) .
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7 . cos 1+
n∑

k=1

(
(−1)k22k−2 sin 1

(2k−1)! (x + 2)2k−1 + (−1)k22k−1 cos 1
(2k)! (x + 2)2k

)
+

+ o
(
(x + 2)2n

)
.

8 .
n∑

k=1

(
22k−2 ch 1
(2k−1)! (x − 3)2k−1 + 22k−1 sh 1

(2k)! (x − 3)2k
)
+o

(
(x − 3)2n

)
.

9 .
n∑

k=0

(
4k+1

e4·k!

(
x − 1

2

)2k + 2·4k

e4·k!

(
x − 1

2

)2k+1
)

+ o
((

x − 1
2

)2n+1
)

.

10 .
n∑

k=0

(
−2
e·k! (x + 3)4k + 1

e·k! (x + 3)4k+1
)

+ o
(
(x + 3)4n+3

)
.

11 .
n−1∑
k=0

k (x − 2)k+1 + o((x − 2)n) .

12 .
n−1∑
k=0

k (x − 1)2k+1 + o
(
(x − 1)2n

)
.

13 . 5
2 +

n∑
k=1

(
(−1)k − 1

2k+1

)
(x + 1)k + o((x + 1)n) .

14 .
n∑

k=0

(
(−1)k + 1

2k−1

)
(x + 1)k + o((x + 1)n) .

15 .
n∑

k=0

(
− (x + 1)3k − (x + 1)3k+1

)
+ o

(
(x + 1)3n+2

)
.

16 . ln 2+
(
ln 2 + 1

2

)
(x + 1)+

n∑
k=2

(−1)k(k+1)
2k·k(k−1)

(x + 1)k +o((x + 1)n) .

17 . − ln 4 +
(
ln 2 − 1

4

)
(x − 1)2 +

n∑
k=2

(−1)k(2k−1)
4k·k(k−1)

(x − 1)2k +

+ o
(
(x − 1)2n+1

)
.

18 . ln 1
5 · (x − 1

2

)
+

n−1∑
k=1

(10k+3)
(4k2−1)4k ln 5

(
x − 1

2

)2k+1 + o
((

x − 1
2

)2n
)

.

19 . − π2

4 +
n∑

k=2

(−1)k−122k−3

(2k)!

(
4k2 − 2k + π2

) (
x − π

2

)2k +

+ o
((

x − π
2

)2n+1
)

.

20 . −π2 (x + 1)+
n∑

k=2

(−1)kπ2k−2

22k−2(2k)!

(
20k2 − 10k + 5π2

)
(x + 1)2k−1 +

+ o
(
(x + 1)2n

)
.
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21 . 1 + 1
2 (x + 1) − 5

8 (x + 1)2 −
n∑

k=3

(2k−5)!!
2k·k!

(4k − 3) (x + 1)k +

+ o((x + 1)n) .

22 . − 8 +
n∑

k=1

2 lnk−1 2
k! (k − 4 ln 2) (x − 2)2k + o

(
(x − 2)2n+1

)
.

23 . − 9 + 18 (x − 3) +
n∑

k=2

(−2)k−2

k!

(
k2 − k − 36

)
(x − 3)k +

+ o((x − 3)n) .

24 . − 3 + 2x2 +
n∑

k=2

22k−3

(2k)!

(
4k2 − 2k − 12

)
x2k + o

(
x2n+1

)
.

25 . 8x2 +
n−1∑
k=1

22k−1

(2k+1)!

(
16 − 4k2 − 4k

)
x2k+1 + o

(
x2n

)
.

26 . 1√
2

+
n∑

k=1

(
(−1)k(1−2k)√

2(2k)!

(
x + π

4

)2k + (−1)k+1(2k)√
2(2k+1)!

(
x + π

4

)2k+1
)

+

+ o
((

x + π
4

)2n+1
)

.

27 . − 1 + (x + 1) + 3
2 (x + 1)2 − 1

2 (x + 1)3 +

+
n∑

k=4

(2k−7)!!
k!

(
3k2 − 17k + 15

)
(x + 1)k + o((x + 1)n) .

28 .
√

3 + 7
√

3
6 (x − 4) + 11

√
3

72 (x − 4)2 +

+
n∑

k=3

(−1)n(2k−5)!!
6kk!

(4k + 3) (x − 4)k + o((x − 4)n) .

29 . − 27 + 3 (x + 3) + 19
8 (x + 3)2 +

+
n∑

k=3

(−1)k·4·(2k−5)!!
8kk!

(14k − 9) (x + 3)k + o((x + 3)n) .

30 . arctg 1
2 +

n−1∑
k=0

(−1)k

22k+1(2k+1)
(x + 3)2k+1 + o

(
(x + 3)2n

)
31 . ln 6 +

n∑
k=4

(−1)k−1(2k−1)!!
2k+1·9k·k·k!

(x − 4)k + o((x − 4)n)

32 . π
4 x − x2 +

n−1∑
k=1

(−1)k−12k(2k−1)!!
k!(2k+1) x2k+2 + o

(
x2n+1

)
33 .

n−1∑
k=0

(−1)k

2k+1 (x + 2)2k+2 + o
(
(x + 2)2n+1

)
34 . π + 2

9 (x − 1) + π
2 (x − 1)2 +
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+
n−1∑
k=1

(−1)k

9k+1

(
2

2k+1 − 9
2k−1

)
(x − 1)2k+1 + o

(
(x − 1)2n

)
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1 . − 4. 2 . − 3. 3 . − 13
6 . 4 . exp{ 1

8 cos2 1
}. 5 . exp{−1

4}.
6 . 1

3 . 7 . 3. 8 . 5
3 . 9 . exp{2

3}. 10 . − 3
2 . 11 . − 8

3 . 12 . exp{1
3}.

13 . exp{−1
3}. 14 . 13. 15 . 6. 16 . − 2. 17 . e4. 18 .

√
3

4 . 19 .
√

e.
20 . e2. 21 . exp{−15

2 }. 22 . 10
3 . 23 . 1

24 . 24 . exp{4
5}. 25 . exp{3

2}.
26 . ln 5

4 . 27 . ln 5. 28 . ln 3
10 .
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